MeToxn mapakeipévou
(The past participle)

The traditionally called “medio-passive
perfect participle” (uetoyy ueoomaOnTLrov
mogoxeluévov) comes from the passive
perfective stem of the verb and it behaves
like an adjective.

O Zayivns eivar moAv
HOVQOAOUEVOS
Formation
The participle is formed by the passive
perfective stem and the ending -uévog, -n,
-0. The stem may change:
ayamw ayamnl-nxa — ayannuévos | ayarnuévy | ayoamnuévo

owafalw owafaor-nra — owaPfaocuévos | drafacuévy /| drafacuévo

%0Vpw xOUQPT-Nra —> XQUUUEVOG | XQUUUEVY | QUUUEVO
Y0aQw YOAQPT-Nxa —> YOAUUEVOS | YOOUUEVN | YOOUUEVO
avolyw avoiyT-nxa — avoryuévos | avoryuévy | avoryuévo

avamtioow  avomToyh-nxa — avartvyuévos | avamtvyuévy | avamtvyuévo

UOAVYVQW UOADVO-nxa —> uolvouévos | uolvouévny | uolvouévo
ATOUAXQVV  ATTOUAXQUVE-NXA—> ATOUAKQVOUEVOS | ATTOUAXQUOUEVY | ATTOUAXQUOUEVO

* In cases where the stem ends in -gut- the
participles drop the -v- except for the cases
where the active perfective stem ends in -evo-

UOYELQEVD®  UAYELQEDTNXA —> UAYELOEUEVOS | UAYELQEUEVN | UaYELOEUEVO
but
EXTTAULOEVW — EXTTAUOEDTNHA —> EXTIAULOEVUEVOS | EXTTAULOEVUEVY | EXTAULOEVUEVO
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* Some participles in -yuévog can drop the -y-
TETAW

Boéyw

* Transitive verbs with both active and
passive voice usually form these participles,
but there are some exceptions.

* For irregular passive perfect participles
see list of verbs (appendix).

Use

These participles decline according to
number, gender and case just like the
adjectives in -0g, -1, -0.

The participle in -uévog, -uévn, -uévo can
modify a noun and it has to agree with the
noun in gender, number and case.

4% The structure eluow novpoouévoc has

roughly the same meaning as the present
perfect £y ®ovpaoTel.

TETAYTNHRA —> TETA (Y )Uévos | meta(y)uévny | meta(y)uévo

Bodynra — Poe(y)uévos | Poe(y)uévy | Boe(y)uévo

avefaivw avéfaoa avefaouévog
xatefaivo  xatéfaoa | xarefacuivos
aQEWoTaivew  aEEWOTNOA | AROWOTNUEVOS
oaxevw odxovoa, 0axQUOUEVOS
Ovuaovw Ovuwoa Ovuwuévog
TEQPTW émeoa TETUEVOS
TEWVWD meivaoa TEWVOAOUEVOS
oPa olyaoa opaouévog
uebw uébvoa uebvouévog

0 Zayivyg eival moAv xoveaouévog
xat Oérer va xowunBei alla n Ayxaba
oev elvar xaboiov xovoaouévy xai
OéAel va maet folta

H Ayxdba oev
H Ayxdba oev

elvar xovoaouévy
Exel xovpaotel
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ACTIVITIES
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1. Rephrase the sentences according to the example

H Khewo €xer pahdoer pe 1o Adun —
H Kieiwo eivar ualouévn ue to Aaxn

1. H unxovi g Kheung €xel mah yahdoer —

2. To mA€épwvo oto omitt tov Adxn €xeL nomel —

3. O hoyopraoudg Tov TnAepmvov dev €xeL TAnowOel —

4. O Zayivng €xeL Buumoel Tohv pe v Ayrdabo —

5. H AyraBa €xeL otevoywonOei mohv pe v ®ardotoon —

2. Fill in the blanks as in the example

Metd amd 0éra dpeg Takidl, o Zayxivng yooloe oOmitL mevaouévos (TEWAM) RO

(dupawm). Borxe ta pord (notePalm). Mmxe otnv

®novCiva rou €tde ) ydto (avePatm)

070 TETECL TG ®OVLIvag %Al TO ayNnTd TOU
(Téprw) oto mdrwua. ITioe auéowg mrégpavo v

Aynd0a ol (Buudvm)...




3. Sahinis and Agatha have returned home late to find their place robbed.

Use the participles of the verbs to describe it

avoiywm, oxiCm, avamrodoyvoilm, Tetdw oTo TATOU, YIVO, EELLOMV®, YOApW, o7rdlw

Ta tCaua frav omacuévae,
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